MATH1040 Practice questions 3

1. Answer each of the following questions, showing all working.

202!

(b) Simplify 20273y =3 + (27271 x ¢t

(c) Solve —3r+5<-2x—4 and write your answer in interval format.

6
(d) Expand and simplify Z 3izx.
i=2

(e) Expand and simplify Z(—l)lz
i=1

-4 -4 -4 -4
(f) Write in summation notation: o3 + 3 + T + -

(g) Find zif ) —2i=-28.
=2

-2
(h) Find z if ) —2i=18.

(i) Find 2z if ) —2i=14.

i=x—1

2
(j) Find z if ) xi=-2.

1=—1
1
(k) Find z if > -2z =38
=0

3
(1) Find zif == 2
=1

2. Answer each of the following questions, showing all working.

0,—1

. . r-x
(a) Simplify ooy ¥
(b) Simplify 32072 + (272y73) x ¢
(c) Solve 22 +4>3x—-5 and write your answer in interval format.

1
(d) Expand and simplify Z 2ix.

i=—2
(e) Expand and simplify Z(—l)%
i=1
(f) Write in summation notation: — t —+— 4+ —+—+ —.
x
(g) Findzif Y i=9.
i=2

(h) Find z if Y —i=5.

(i) Find zif Y i=5.

i=x—1
0
(j) Find z if > xi=-2.
1=—1
0
(k) Find zif Y z=3.
1=—2



4
(1) Find z if 2= 3i.

=1

3. Answer each of the following questions, showing all working.

3zt

(b) Simplify r32%y% = (27 ly72) x o2

(c) Solve —2z+3>2x—4 and write your answer in interval format.

5
(d) Expand and simplify Z 3ix.
i=2

5
(e) Expand and simplify Z(—l)ii.
i=2
4 4 4 4

4
(f) Write in summation notation: -+ -+ -+=-+-=-+-.

4 5 6 7 8

x

(g) Find zif Y i=2.

1=2
0
(h) Find z if Y —2i=2.

x

(i) Findzif Y —i=1.

1=x—1

-1
(j) Find z if > xi=3.

i=—2
2
(k) Find z if Zx = -2
i=1

3

(1) Find z if 2= 3i.

=1

4. Answer each of the following questions, showing all working.

o ~1,3
(a) Simplify o
(b) Simplify 7l Y73 = (a7 3y ) x 0.

(c) Solve —2r4+5< -3r—4 and write your answer in interval format.

3
(d) Expand and simplify Z 4ix.
i=0

5

(e) Expand and simplify Z(—l)ii.
=2
-3 -3 -3 =3

-3

-3

-3

(f) Write in summation notation: —t—+t— 4+ —+ =+ —+ —.

3 4 ) 6

(g) Find zif Y —i=-5.

=2

—1
(h) Find z if ) 3i=—9.

(i) Find zif ) 3i=-15.

1=x—1

4
(j) Find zif > xi=0.
i=1

7

8

9



4
(k) Find z if Y -z =4.
=1
3

(1) Find z if 2= Zio.

i=1

5. Answer each of the following questions, showing all working.

o slp—3

(a) Simplify g

(b) Simplify rla=ly? + (2%y?) x y=3.

(c) Solve 3r+3>-2x—-1 and write your answer in interval format.

3
(d) Expand and simplify Z 2ix.
i=0
(e) Expand and simplify Z(—l)lz

i=1

(f) Write in summation notation: —t —t—4+—+ —+ —+ —.

(g) Find z if —2; = —2.
(h) Find z if Z?,i — _18.

(i) Find zif ) 2i=10.

i=x—1
4
(j) Find zif > xi=09.
1=2
2
(k) Find z if > z=2.
1=1
0
() Find zif ==Y 3i%
i=—1



